Oliver Twist Scene One — The Workhouse

Answers

1. Which is the first character we meet during scene one? Tick one.
Boy 1
Oliver

Narrator
Mr Limbkins
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2. Who rushes onto the stage when The Master calls? Tick two.

Oliver

Mr Bumble

the two women
Mr Limbkins
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3. Number the events 1-4 to show the order they happen in the stage directions.

E Oliver walks towards The Master.

El Five workhouse orphans walk across the stage.
|Z| All orphans move through the queue.

Orphans around the tables gasp.

4, Draw four lines to match each character to what they say in the play script.

Boy 2 He did, sir.

Oliver What?!
The Master What about you, Oliver?
Mr Bumble Please, sir, I want some more.
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5. They lie on the floor with their stomachs rumbling.
What does this sentence imply about the children?

Pupils’ own responses, such as: It implies that they are hungry.

6. One of us should say something. We should ask for more food.
According to the stage directions, how should Boy 2 say this line?
Boy 2 should say this line quietly.

7. Explain why Oliver was no longer able to live with Mrs Mann.
Pupils’ own responses, such as: Oliver was no longer able to live with Mrs Mann because
he was nine years old and that is too old to stay in her care.
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